EXPANDING AND FACTORISING
Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Foundation Tier

1.
19 (a) Expand x(x—4)

(b) Factorise 15y — 10

(c) Solve 7(f-5)=28

f=

{Total for Question 19 is 4 marks)



Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Foundation Tier

2.
16 (a) Expand 5(2m — 3)

(b) Factonise 3n+ 12

(Total for Question 16 is 2 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Foundation Tier

3.
19 (a) Solve 3(x-4)=12



(b) Factorise fully 9b - 34

(Total for Question 19 is 4 marks)

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Foundation Tier

4.
20 Expand and simplify S(p+3)-2(1-2p)

(Total for Question 20 is 2 marks)

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Foundation Tier

5.



17 (a) Factorise 4m + 12

expression equation formula identity

inequality term factor multiple

(b) Choose two words from the box above to make this statement correct.

51 WA mmssise i EHe s s e D

(Total for Question 17 is 3 marks)

Pearson Edexcel — Specimen 2 - Paper 1 (Non-Calculator) Foundation Tier

6.
19 (a) Factorise »*+ 27y

(b) Simplify  (#)*

9

(c) Simplify %

(Total for Question 19 is 3 marks)



Pearson Edexcel — Specimen 2 - Paper 2 (Calculator) Foundation Tier

7.
17 (a) Simplify 7x+ 2y —3x+4y

(b) Factorise  10x — 15

(c) Solve 5p =3p+8

(Total for Question 17 is 5 marks)



24 (a) Expand and simplify 3(y —2)+52y+1)

(b) Simplify  5u?w* % Tuw?

(Total for Question 24 is 4 marks)

Pearson Edexcel — Specimen 1 - Paper 1 (Non-Calculator) Foundation Tier

9.
27 Expand and simplify (x+3)(x—1)

(Total for Question 27 is 2 marks)



10.
28 Factorise x*—16

(Total for Question 28 is 1 mark)

OCR Tuesday 5 November 2019 — Morning (Calculator) Foundation Tier

11.

7 Factorise fully.

(a) 6+9y

(b) 2x° +6x

OCR Tuesday 21 May 2019 — Morning (Calculator) Foundation Tier

12.
6 (a) Multiply out.

4(3x+2)

() e,

(b) Factorise.

3c —6d

(B) oo



OCR Tuesday 6 November 2018 — Morning (Calculator) Foundation Tier

13.

14 (a) Find the value of x in each of the following.

4 3
(i) & =a =a

(A1) % =
(i () =p"

(b) Factorise fully.

18x% +9x



OCR Monday 24 May 2018 — Morning (Calculator) Foundation Tier

14,
7 (a) Sole.
{iy 4x=256
@A) = . [1
(i) X = i [1
{ili) Bx—6 =46
{HI) X = e [2]

(b) Sole by factorising,

2
X +11x+30 =0



OCR Thursday 7 June 2018 — Morning (Non Calculator) Foundation Tier

15.
12 (a) Multiply out.

4¢(d - 5)

(b) Multiply out and simplify.

(3x + 2)(x — 4)

(c) Solve.

Ix—-2=22



OCR Tuesday 12 June 2018- Morning (Calculator) Foundation Tier

16.
13

In this guestion, assume all dimensions are in centimetres.

a+b
Jess and Pete have many rectangular tiles, Mot to scale
Each tile has length & + b and width 2b. 28

{a) Jess joins three tiles together to make a larger rectangle, as shown.

Mot to scale

{i}y Write an expression for the perimeter of her rectangle.
Give your answer in its simplest form,

() oo e e e e e e [2]
(i) An expression for the area of her rectangle is 6ab + 642,

Factorise this expression fully,

() i s s [2]

(b) Pete joins some tiles together to make a different rectangle,
The area of his rectangle is 8ab + 812,

Craw a possible arangement of tles for Pete's rectangle.
Wite down expressions for the length and for the width of the rectangle,

BOom 3



OCR Monday 6 November 2017- Morning (Calculator) Foundation Tier
17.
& (a) Simplify fully.

(I} 4{c+2d)+3(3c—5d)

L T [3]
{ily £a=x5b
I e [11
{b) Factorise fully.
{iy Gg+8h
=T [11

(i) 5x*—15x



Pearson Edexcel —Sample Papers - Paper 2 (Calculator) Foundation Tier

18.

20 (a) Factorise 3f+9

(b) Factorise x'—2x-15

)

(Total for Question 20 is 3 marks)



OCR Thursday 25 May 2017 — Morning (Calculator) Foundation Tier

19.

7 (a) Simplify.

Tt—6u+5—4u

(b) Factorise.

Sv+ 20w

(c) Solve by factorising.

x2+10x+21=0

(a)

(b)

(c)

-[2]

-]

[3]



OCR Tuesday 13 June 2017 — Morning (Calculator) Foundation Tier

20.
4 (a) Expand and simplify.

S5(x—2)-2(x—4)

(a)
(b) Factorise fully.

1Ebc2 + Bx

(b)
(c) Simplify.

(c)

- [2]

- [2]

1]



AQA Tuesday 19 May 2020 — Morning (Non-Calculator) Foundation Tier

21.

25 Factorise fully — 2x2 + 6x
[2 marks]

Answer




AQA Monday 8 June 2020 — Morning (Calculator) Foundation Tier

22.
27 Circle the expression that is equivalentto  (x — 1)°
21 2+ 2-2x-1
23.
30 Expand and simplify fully 42c+ 3) - (5c - 1)

2—2r+1

[2 marks]

Answer

[1 mark]



AQA Thursday 11 June 2019 — Morning (Calculator) Foundation Tier

24,

19 (a)  Simplify fully 3 +Ta+3-a°+8a—-4

[3 marks]

Answer

19 (b)  Factorise fully 24y — 20y

[2 marks]

Answer




AQA Thursday 7 June 2018 — Morning (Calculator) Foundation Tier
25.

19 Multiply out xlx—4)

Circle your answer.
[1 mark]

-4 2x -4 ¥ —dx —3x°

AQA Tuesday 13 June 2017 Morning— Morning (Calculator) Foundation Tier

26.

28 Circle the expression equivalent to X —dx—12
[1 mark]

(x = 4){x-8) (x + INx —4) (x=12)x + 1) (x + 2)(x = 6)



